Order of Operations (A)

Perform the operations in the correct order.

.94+ (1.546.5)x6.7—4.5 6.9.7x ((1.2—0.3)+0.3) — 2.1
2. (54+0.6)x5.5—(3.6+6.7) 7.9.8—0.4445—(1.6+1.8)
3. (4.9+0.5)x(3.3-2.8)—2 8. ((4.44+1.1—04)+1)x3

4. ((3.8—0.6) x2) = (2.2+4.4) 9.8.74+82459—(1.4+0.3)
5.47+7.44(3.94+6.9)+1.5 10. (((6.6+0.5)+0.2)+7.1)°
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Order of Operations (A) Answers

Perform the operations in the correct order.

944 (1.546.5)x6.7—4.5 6.9.7x ((1.2—0.3)+0.3) — 2.1
= 58.5 =27

(5.4+0.6) x5.5—(3.6+6.7) 7.9.8—0.44+45—(1.6+1.8)
=39.2 =10.5
(49+0.5)%x(3.3—2.8)—2 8. ((444+1.1-04)=1)x3
=29 =15.3

(3.8—0.6) x2) = (2.2+4.4) 9.8.7+82+59—(1.4+0.3)
=12.8 =21.1
474744+ (39469)=1.5 10. (((6.6+0.5)+0.2)+7.1)*
=19.3 =25
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Order of Operations (B)

Perform the operations in the correct order.

L0.5—((3.9—(7.3-3.4))x3.3) 6. (1.346.2) X 5.6+8.4—7.6
2.9.4x(9.5+3.8)+5.7—4.5 7.5.7+429+02—(9.9=1.1)
3.1.8462+3.4+03+82 8.9.3—(5.6—((5x0.5) x0.6))
4.534+13—(4+3.5-6.3) 9.84—(0.1+1.64+52+0.8)
5. (3.84-0.6) x (7.5 x (5.4 —3.8)) 10. 4746 % 5.9—(5—0.6)
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Order of Operations (B) Answers

Perform the operations in the correct order.

05— ((3.9—(7.3-3.4)) x3.3) 6. (1.346.2) X 5.6+8.4—7.6
=0.5 =42.8
1 9.4%(9.5+3.8)+57—4.5 7.57429+02—(9.9+1.1)
=247 =112
1.8462+3.4+03+82 8. 9.3—(5.6— ((5%0.5) x0.6))
=19.9 —52

. 53+13—(4+3.5-6.3) 9.8.4—(0.1+1.64+5.2+0.8)
. (3.840.6) x (7.5 x(5.4—3.8)) 10. 4746 x5.9—(5-0.6)
=52.8 = 35.7
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Order of Operations (C)

Perform the operations in the correct order.

1L.3.7—(64+23—4.7)+1.3 6.9.8+45+7.8—(3.3+2.2)
2.5.5+((3.8+3.8)x4) x 1.6 7.87—((1.9%2)+3.8)—0.5
3.27447—(78+52+2.8) 8. 0.8+ (4.5+9)+6.5x% 10
4.32— (71— (72— (5x0.5))) 9.84+15-49+6.6—1.4
5.262°02_ (8.8 _3.1) 10. (7.147.6—6.7) = 8) x 5.9
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Order of Operations (C) Answers

Perform the operations in the correct order.

37— (6423-47)+1.3 6.9.84+45+7.8—(3.3+2.2)

. 55+((3.8+3.8)x4)x 1.6 7.8.7—((1.9x2) = 3.8) — 0.5
=11.9 =17.2

2.7+4.7—(7.8+5242.8) 8. 0.8~ (4.5-9)+6.5x% 10
= 3.1 = 66.6
3.2—(7—(7.2—(5x0.5))) 9.84+15-49+6.6—1.4
=0.9 =5.9

L 262702 _ (8.8 —3.1) 10. (7.14+7.6—6.7) = 8) x 5.9
= 58.3 =35.9
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Order of Operations (D)

Perform the operations in the correct order.

L (4.7+8.3) x (2.404°04) 6. ((1.8+0.5)+(1.8+2)) x 3.4
2.6.5—((7.2-22) x (0.9+1)) 7.4243.5+6x%(7.2—5.7)
3.5.8—((8.84+0.8)+(0.5+5.5)) 8. ((6.9+0.5) x (5.4+0.9)) 7.2
4.84—-724+12+5245.9 9.3x87-2.1-85+9.4
5.39+(5-(35-(92—-17.7))) 10.9.8— (7.2 (4.1+4.1))+1.4
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Order of Operations (D) Answers

(4.748.3) x (2.404704)

Perform the operations in the correct order.

6. ((1.8+0.5)+(1.8+2))x3.4

— 13 =13.6
5—((7.2-22)x(0.9+1)) 7.424+35+6x%x(7.2—-5.7)
.5.8—((8.8+0.8)+(0.5+5.5)) 8. ((69+0.5)%x(54+0.9))+7.2
=4.2 =11.5
. 84—-724+12452+59 9.3x87—-2.1-85+94
=13.5 =249
.39+(5-(35-(9.2-17.17))) 10. 9.8 — (7.2 (4.1+4.1))+ 1.4
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Order of Operations (E)

Perform the operations in the correct order.

1.534+2.1—(6.1-1.9)+6.7 6. (7.7—5.7) x 8.8 —3.2+8.2
2.8.34+9.4—((1.8x8.5)+8.5) 7. (7.4 -2.6)+ (3.6 +1.2) + 8.4
3.45%x6.4+1.24+93-1.3 8. 1+9.2+8.7x3+2.7
4.5x(2x1.5)—(0.2x6) 9. (9.4—0.4)+(5.841.3-5.6)
5. (6x1.5)+(5x(2.8+1.4)) 10. 7.9 x (6.6 —4.5+9.9)

Math-Drills.com




—

N

W

Order of Operations (E) Answers

Perform the operations in the correct order.

. 53+2.1—(6.1—1.9)+6.7
—=9.9

. 83+9.4—((1.8%x8.5)+8.5)
=15.9

. 45%x64+12493-1.3
=38

5%x(2x1.5)—(0.2%x6)
= 13.8

'

x 1.5) = (5% (2.8 1.4))
0.9

I3

8. 1+
=3

Il o

6. (7.7—5.7) x 8.8 —3.2+8.2

=22.6

4-26)=(3.6+-12)+84
10

24+8.7Tx3+2.7

9
9

4-0.4)=(584+13-5.6)
6

10. 7.9 x (6.6 —4.5+9.9)

=948
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Order of Operations (F)
Perform the operations in the correct order.

35 % (1.74+1.5)+2.6+1 6 51— <(1.5+0.5>6.2+6.2>

—_—

2. 6.4—(((5.7—5.3) x 2.5) x5.2) 7 68— (03%4)—3+8.6

N

41 x2+10% (10—3.1) 8. (5.6 x4) x ((4.6—1)=0.9)

4.55x(49+77-5.6)-2.8 9. ((4.141.7)+5.8) x (2.5+2.8)

9

- 0.149.7—(1.9-13)+9.3 10. 3.2 x2— (7.7 (4.9 - 2.4))
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Order of Operations (F) Answers

Perform the operations in the correct order.

=2.1

84~ ((5.7=53)x2.5)x52) 7.6.8—(0.3%x4)—348.6

=11.2

4.1x2+410x% (10—3.1)

=772 8. (5.6 x4)x((4.6—1)=+0.9)

=89.6
- 5.5x(49+7.7-5.6)-238 9. (4.1+1.7) +5.8) x (2.5+2.8)
=35.7 DA
. 0.14+9.7-(1.9-1.3)+9.3 10. 3.2 x2— (7.7 — (4.9 —2.4))
= 18.5 =12
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Order of Operations (G)

Perform the operations in the correct order.

L ((8.946.1) x 1.1) x (8.4 —2.4) 6. (2.5%3.2) x (1.4x2)—9.7
2.93-1.5—(8.4+6.5—8.4) 7. (48X 1+5.6) = (6+7.5)

3. ((5.8=5.2)x (6.5+1.3)) x5 8. 43— (9.9-6.6)— (4.5—3.9)
4.7.6=(1.2—0.4)—(3.3-2.2) 0. 1.7+ (4.5-43)4+9.240.1
5. (0.9% (6.9—5.9)) + (3.6 -1.2) 10. (6.6 x (1+0.940.1)) =6
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Order of Operations (G) Answers

Perform the operations in the correct order.

1. ((8.946.1) x1.1) x (8.4—2.4) 6. (2.5x3.2)x(1.4x2)—9.7
=99 =12.7

2.93—1.5—(8.4+6.5—8.4) 7. (48 % 14+5.6) + (6+7.5)
=1.3 =13

3. ((5.8-52) % (6.5=1.3)) x5 8. 4.3—(9.9+6.6) — (4.5—3.9)
=15 =2.2

4.7.6+(12-04)—(3.3-2.2) 9. 1.7+ (45-4.3)+9.2+0.1
= 8.4 =17.8

5.(09%(69-59))+-(3.6+-1.2) 10. (6.6 x(140.9+0.1))+6
=0.3 =2.2
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Order of Operations (H)

Perform the operations in the correct order.

1.92410— (0.3 x (8.4+0.7)) 6. (4x6.2)x (3.7—(9.2—17.5))
2. (8.8+4.4)=(9.6—3.8—4.8) 7.7.4—(3—((8.9—8)+9))
34— (6.64+0.5—(1.5%2.2)) 8. 6.6+ (0.4 (4.1+(10—5.9)))
4. 84426x6+84—3.1 9.0.5+(7—6) x (0.4 x 1)
5.(7.2+1) x ((8.8+0.5) +3.2) 10. 6.4+ (4.8 —4.4)— (1x3.9)
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Order of Operations (H) Answers

Perform the operations in the correct order.

1.9.2+10— (0.3 x (8.4+0.7)) 6. (4%6.2) % (3.7—(9.2—7.5))
= 15.6 =49.6

2. (8.8+4.4)+(9.6—3.8—4.8) 7.7.4—(3—((8.9—8)=9))

3.4—(6.6+0.5—(1.5%2.2)) 8. 6.6+ (0.4 (4.1+(10—5.9)))
=0.2 =16.5

4. 84+42.6x6+84-3.1 9. 0.5+ (7—6) x (0.4 x 1)
=29.3 =0.9

5.(7.2+1) x ((8.8+0.5)=3.2) 10. 6.4+ (4.8 —4.4) — (1x3.9)
=39.6 =12.1
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Order of Operations (I)

Perform the operations in the correct order.

1. (1.2+0.6)°—(9.8—2.7) 6.9.1x(2.5—(4.4—-(3.8x0.5)))
2. 8245+ 10 x (4.6+2.2) 7. (7+28) x(2.1+3.3-2.2)
3.2344.9+354+7+7.3 8. 6% ((7.9-(0.5%9))+2)
4.0.14+9.44+78+9.2+1 9. (4x (19331)) x 7.1

5. (2°) x(3.5—(3.1-0.1)) 10. (8.2x6)+(8.4—1.7—0.7)
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Order of Operations (I) Answers

Perform the operations in the correct order.

L (1.2+0.6)°—(9.8—2.7) 6.9.1x(2.5—(44—(3.8x0.5)))
= 56. =0

2. 82+45+10% (4.642.2) 7. (7+2.8) x (2.143.3-2.2)
=81.2 =38

3234493547473 8. 6% ((7.9-(0.5%9))+2)
—18 =10.2

4.0.149.4+7.8+9.2=+1 9. (4x (192%31)) x 7.1
=26.5 — 28.4

5. (2°) x(3.5—(3.1-0.1)) 10. (8.2x6)+(8.4—1.7—-0.7)
=16 =8.2
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Order of Operations (J)

Perform the operations in the correct order.

L2x(L4=((7.2=3.5)+7.4)) 6. 4.1x (8.3+43+2.4-2)
2. (2.7—0.4) x ((2.1-0.3) = 1.8) 7.6.84 (5% 1.8)+0.4+7.1
3.7.7—(7.8+(9.5+9-5.5)) 8. 3+52474x2—10
4.1.9—(9.1-2.8—(6.4—10.7)) 9.9.5+(8.6—(5.9—-3)—5.2)
5.2.9x ((4.5-3.4)=(0.2+2)) 10. 7% (4.9+0.5)— (7.1—0.3)
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Order of Operations (J) Answers

Perform the operations in the correct order.

2% (1.4+((72-3.5)+7.4)) 6. 4.1x (8.3+43+2.4-2)
=5.6 =53.3
(2.7-0.4) x ((2.1-0.3) = 1.8) 7.6.84 (5% 1.8)+0.4+7.1
=23 =36.4

77— (7.8+(9.5+9—5.5)) 8.3+52+7.4%x2—10
=17.1 =13

1.9-(9.1-2.8—(6.4—0.7)) 9.9.5+(8.6—(5.9-3)—5.2)
=1.3 =19

29% ((4.5-3.4)=(02+2)) 10. 7% (4.9+0.5) — (7.1 - 0.3)
=31.9 —61.8
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